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Question: 60

Refer to the exhibit.

An engineer creates a Python script using RESTCONF to display hostname information. The code must be completed so that it can be tested.

Which string completes the highlighted areas in the exhibit?
A . yang-data+json
B . yang +json
C . yang.data+json
D . json

Answer: A

Explanation:

Reference: https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/prog/configuration/166/b_166_programmability_cg/restconf_prog_int.html

Question: 61

Which Python snippet receives a Meraki webhook request?

A)

B)

C)



D)

A . Option A
B . Option B
C . Option C
D . Option D

Answer: D

Explanation:

Reference: https://github.com/CiscoDevNet/dnav3-code/blob/master/intro-meraki/meraki-07-webhooks/webhookreceiver.py

Question: 62

Refer to the exhibit.

Which type of YANG container is described by the JSON instance provided?
A . interface-configurations
B . active
C . interface-name
D . description

Answer: A

Explanation:

Reference: https://www.cisco.com/c/en/us/td/docs/routers/asr9000/software/asr9k-r7-0/programmability/configuration/guide/b-programmability-cg-
asr9000-70x/b-programmability-cg-asr900070x_chapter_011.html

Question: 63

DRAG DROP

Drag and drop the commands to the Ansible playbook that applies configuration to an interface on a Cisco IOS XE device. Not all options are used.



Answer: 

Explanation:

Reference: http://imxing.cn/?p=464

Question: 64

Refer to the exhibit.

Which XML tag completes this NETCONF telemetry subscription with a Cisco IOS XE device?
A . crontab
B . cadence
C . frequency
D . period

Answer: D

Explanation:

Reference: https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/prog/configuration/1610/b_1610_programmability_cg/model_driven_telemetry.html

Question: 65

Refer to the exhibit.

What is the result when running the Python scripts?
A . s1
B . s2
C . s1, s2, s3
D . s3



Answer: B

Explanation:

Question: 66

Refer to the exhibit.

An engineer creates an Ansible playbook to configure VRF information using a local_vrfs variable. The code must be completed so that it can be tested.

Which string completes the code?
A . present
B . up
C . on
D . active

Answer: A

Explanation:

Reference: https://docs.ansible.com/ansible/latest/modules/ios_vrf_module.html

Question: 67

Which two Netmiko methods are used to configure a device? (Choose two.)
A . send_config()
B . send_control_from_file()
C . send_config_set()
D . send_command()



E . send_config_from_file()

Answer: CE

Explanation:

Reference: https://pynet.twb-tech.com/blog/automation/netmiko.html

Question: 68

Which two types of solution are built with the Meraki Location Scanning API? (Choose two.)
A . networking automation
B . mapping
C . guest Wi-Fi
D . Sense
E . wayfinder

Answer: BE

Explanation:

Reference: https://developer.cisco.com/meraki/build/wayfinding-mapwize/




